| N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

) n n )
Q [ o Q
Q 3 = Q
T e S S S ko] =
S0E 20°k &10°
(=2 - > [«2)
£ r = £
= - 7] =
Q c Q
BL0% oo S €
= E o, =
[ 10 10
10°F
L 10 =441
10
1
o +<f =
s gt
o 144 24 1
- T T E + ] : ! 3 .
E 1 07' 1 1 1 O L
1072 107 1 10 10° 1072 107 1 10 10° =30 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
12 [%] [
o Q a
= o [
kel = kel
ot 8 o
o (S}
5102 =2} =]
510 S 7
c S . c
3 €10 3l
o) = o)
@ @
10
l -
o F -- . : . : :
8 ] o R B R A .
&g of ] | R R LR LELT IPTC RIEEIEREE
oo S R - .
0 oF 1 i h 1 1 o ob. 1 1 Lok e 1 1 1 [ .| 1 1 1 1
=30 20 -10 0 10 20 30 -10-8 6 -4-2 0 2 4 6 8 10 . 2 4 8 10

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


